
□⑴　次の英文を日本語に直しなさい。
A lot of people in this country think it's no problem to cross the street if 

there aren't any cars coming.

A lot of p
Ｓ

eople in this country t
Ｖ

hink［（that）i
Ｏ

t's……］

（that）it's no problem to cross the street   it is～ to doの文
　　　  〈if there aren't any cars（coming）〉.

　　接続詞thatの省略    　　　　　　　　　　 現在分詞comingが名詞carsを後ろ
から修飾                              

答え【この国の多くの人々は車が来なければ道路を横断にしても問題ないと思って
います。】
　

□⑵　次の英文を日本語に直しなさい。
The interesting story Tomoko heard didn't get out of her head.

The i
Ｓ

nteresting story （（which）T
Ｓ

omoko h
Ｖ

eard） 
didn't g

Ｖ
et out of her head.

　　　　　　　　　　　目的格の関係代名詞 whichの省略
　　　　　　　　　　　　　　 《名詞（story）＋名詞（Tomoko）＋動詞（heard）

（目的語の欠落）》という形になっているので，
目的格の関係代名詞の省略を見抜く。

              答え【智子が聞いたおもしろい話は彼女の頭から離れませんでした】

解答・解説

重要


